FT521ERAR—VIRRE LHER

Fr23%8A15H

MITTBGEABRRR—ViRE+ 42—

AR R BT O 4
H52 1EAR—VIEHE T

A TR — > R Bl BEI5 O 5 5 e H ]
V2 3F8H6H (£) ~FHFE8H13H

oA & I L8 B ST
TRk 2 388 A1 3H () EOR4ESH14H

Ay il

(+)

(H)

o) iZzoft (5I&m) - ER) 2KT,

P2 348 H16H (k) ~Fk24F8A15H OK)

ARV IREL U OFER KLY H A4

*BIG

B oE R A& B R
No. ﬁmé [F—2F—21] AR [TV xAtF—2] ¢ EAE
B fke H

©) 8/13 KT 2L A 3 % 0 RETNT 4 —Tx 1
® 8/13 AN HAF 0 % 1 MET v hT—X 2
® 8/13 EBUTT 4 AWE 3 k1 Ty 7+ — LHF 1
@ 8/13 Ly VKK 1 %t 1 VUNZAVUN'3 0
® 8/13 AN A AE S IN = 0 xf 3 MR T T R 2
® 8/13 A Z ) 2 %t 0 HikE - <VJ & 1
©) 8/14 TAE Ly 7 A 2 %t 3 WLy X 2
8/14 Yo bEriER 6 %t 1 mrA 1
© 8/14 T B A 4G [ 2 %t 1 i~ a2 —1 1
() 8/13 F CHIT 1 xf 0 PR NELHE 1
@ 8/13 a7 v /g 2 %kt 1 Ky h=—% 1
® 8/14 72— L g 1 xf 2 a2 R— UALIR 2
® 8/14 HHEY > HF. C. 1 xt 0 X777 Vb 1
@) 8/14 R LT 4 A 1 %t 1 KEHR—=Y =Ky 0
() < UHEROF 11 TR —2F—2D9075MToOBE, 12] A —AF—LD905MTOHAIT,

WA KA ERCW VIR § Yklal (BIG) N4
(M) q=) G
1 % 600, 000, 000 1 4,809, 003, 447
2 % 2,402, 961 29 0
3 % 83, 805 333 0
4 % 9,930 2,799 0
5 % 1,800 15, 500 0
& = A5 A1 (BIG) Mn%4: ()
e bagE (1) 1,393, 717, 500 1 % 4,865, 453, 622
BEOE (O) 4,645,725 2 0
BB (B0 1,080, 722 3 % 0
4 % 0
5 % 0




*BIG1000O

o) iZzoft (51&4m31) - ER) #KT.,

B e R A& B R
N | B f'\ [F—2F—2] AR (7D =1F—2] < LR
BAfE H
O) 8/13 THEKT AL A 3 % 0 KETNVT 4 —T % 1
© 8/13 AN AE 0 xt 1 BET T —X 2
©) 8/13 ETT 4 A WE 3 % 1 vy 7 — LT 1
@ 8/13 Nl N I 1% 1 VINZAVN 0
® 8/13 VA YN 0 %t 3 HHBT T A 2
® 8/13 P AYIZ 2 X 0 BERF - <=1 7 A 1
©) 8/14 TIVE Ly 7 AHE 2 % 3 R > X 2
8/14 TabuiEHy 6 %t 1 LA 1
@ | 8/14 7B A G 2 % 1 7 e #—1 1
8/13 F C I % 0 RN 1
@ 8/13 a7 v Y RER 2 %t 1 Koy b =—% 1
(#F) < UHEROMH 11 3R —2AF— 20900 TOBL, 12) 1IF—LF—LD905 M TOAIT,
0] Wxzofh (BlEad - ER) 2#R7.
WA KA WA K YIE] (BIG1000) & 4
(M) q=p (M)
1 % 13, 047, 360 5 0
2 % 125, 454 130 0
3 % 12, 302 1,327 0
4 % 1,320 8,224 0
I S - 2 [A] (BIG1000) %4 ()
e k4% (M) 217, 456, 000 1 4 0
BEOL (0) 1,087, 280 2 s 0
Bz (B0 305, 574 3 4 0
4 % 0
*mini BIG
fBoE R A KR
o | 2 8 bheng—al WO (Fo=qr—n] | < EFF
B H
) 8/13 THARKT AL A 3 % 0 KETNT 4 —Tx 1
© 8/13 _ANVEAE 0 % 1 BET R —X 2
® 8/13 LT T 4 AW 3 & 1 Ty 74— LHF 1
@ 8/13 Ly VKK 1% 1 VINZAVN 0
® | 8/13 VA YN 0 %f 3 HERT T RA 2
® 8/13 A% 2 %t 0 FRIEF «<1U /A 1
@ | 8/14 TE Ly 7 ZAHE 2 % 3 AL > X 2
8/14 DS e 6 % 1 LAV 1
@ | 8/14 7B A g 2 %1 7 v B —1 1
(F) < UHEREOMT M) 3R —2F—20905TOML, 2] 1R —AF —LD9045 THOEIT,




RS o| RIS Il (mini BIG) M4
(M) q=p; (M)
1 % 945, 990 35 0
2 % 22,522 588 0
3 % 4,020 4,940 0
I S - A ] (mini BIG) In%& 4 (F9)
e bagE (M) 132, 438, 800 1 % 0
BEO% (A) 662, 194 N 0
BeEERE (B0 212,976 3 % 0
toto
e R A M R
| BT [F—21F—2] AR R [7 %=t F— 2] < LR
BRfE H
D 8/13 1EKT AL A 3 % 0 KETNVT 4 —T% 1
© 8/13 AR NHAE 0 xt 1 BET Y N7 —X 2
® 8/13 EBUTT 4 AWE 3 k1 Ty 7+ — LVHAF 1
@ 8/13 Ly VKK 1o 1 Y INZAVN 3 0
® | 8/13 NN RSN 0 x 3 KR T R 2
® 8/13 PN YZ ] 2 %f 0 BREF -~V /& 1
©) 8/14 TIVE L w7 AR 2 %t 3 ERE 2
8/14 RSt e 6 %xf 1 LA VL 1
© 8/14 T B A S i 2 % 1 JI 7 ey % —1 1
8/13 F CH R 1 %t 0 PR 1
) 8/13 a7 VHER 2 %t 1 Koy bV =—% 1
@ 8/14 HHZ—LEL 1 % 2 a2 F— UALIE 2
® 8/14 HEY L HF. C. 1 % 0 X777 Vb 1
() < UHEROMTF M1 3R —2F—20905MToBb, 2] A —LF—20905MTOAIT,

o) iZcoft (51&m) - iER) 2T,

B AR ERcw sk iy klal (toto) M 4>
(F) () (F

1 % 22,278, 608 3 0

2 % 201, 740 i 0

3 % 17, 990 796 0

B = A5 A Al (toto) INEE4: ()

5o L&t (M) 190, 959, 500 1 % 0
BEOH (A) 1,909, 595 &% 0
R (KO 181,173 3 % 0




0] IX=oft (5l&45) - &) 2£7,

‘mini toto A
B e R A& B R
N | B f'\ [F—2F—2] AR (7D =1F—2] < LR
BAfE H
O) 8/13 THEKT AL A 3 % 0 KETNVT 4 —T % 1
© 8/13 AN AE 0 xt 1 BET T —X 2
©) 8/13 ETT 4 A WE 3 % 1 vy 7 — LT 1
@ 8/13 Nl N I 1% 1 VINZAVN 0
® 8/13 VA YN 0 %t 3 HHBT T A 2
(F) < UHEROMT 1] 3R —2F—20905HTOBL, 2] 1ZF—AF =200 THOAIT,

o) iZzoft (5I&m) - ER) 2KT,

HE A WA O WIE] (mini toto AML) INE4:
(M) () (M)
1 % 7,530 1,199 0
B = A& i A A (mini toto ARH) MN%L4: (H)
*Lem (1) 18, 059, 100 1% | 0
B (0) 180, 591
BBk (F) 37,346
*mini toto B#
fBoE R A KR
T A B A AR (ro=t7—n] | < EFE
B H
@ | 8/13 A% ] 2 %t 0 BHEF - <=V /% 1
© 8/14 TILE L w7 AR 2 %t 3 ERES 2
@ | s/14 DR 6 %t 1 ML A 1
@ 8/14 T B A 4G [ 2 %t 1 iy~ a2 —1 1
® 8/13 F CH I %t 0 PR 1
(X)) < UHEEOMIT 1] 1 3R —AF—2D905MTOMBE, 2] 3R —LF—LD05MTOAIT,

L f A ERYVEE RIFT (mini toto BHH) G4
(M) (1) (M)
1 % 18, 345 445 0
g H A Gt 48l (mini toto BfR) ME 4 (1)
e ek (1) 16, 327, 900 1% | 0
HEO% (R) 163,279
BEH (B 33, 720




*totoGOALS3

§E E &R & M %
y [F—bF—4] g || < CRER
B B No. [7'7:1:/])7‘—.51 A5
8/13 } @_ L _?%EZJ(_I_X_/_\OJ_V_X _________ 3__lo_: 3 -
O B NCYRI T A 0 0
s || b [ O 0 __
@| EET7FT7—X 1 1
G| Brvy Y KK 1 1
8/13 ® | Hr KB 1 1

() < CAER O T0) 129053 TDEF— L DM T05] |

21 139073 M THOETF— LD 125 |

1) 105 CogF—r0Ea 15 .
(3] 1X90 I THORTF—LDES 3RLIE] 2FRT,

WA A E R VIRE: KAl (totoGOALS3) AN 4
(M) q=p; (M)
1 % 121, 965 78
2 % 3,540 1,794
B o= A5 it A [a] (totoGOAL3) MN%E 4 (M)
5e b4&%E () 31, 728, 900 1 4 0
BEOH (A) 317,289 2 % 0
BezERcE (B0 44,527




